Dans chaque cas, construire la demi-droite [Oy) telle que l’angle xOy EQ \d \ba13()\s\up5(^)\d \fo4()  ait la mesure indiquée :




















xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 122°





O








x








xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 96°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 28°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 45°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 125°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 72°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 35°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 80°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 133°
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xOy� EQ \d \ba13()\s\up5(^)\d \fo4() �= 55°
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